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PHILOSOPHY
[Honours ]
PAPER — VII |
Full Marks : 90
Time : 4 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hllustrate the answers wherever necessary

GROUP - A
[ Long-Answer Types Questions ]
Answer any two of the following : 15x2

1. (a) Do you consider that a word is merelya
written marks on paper or a noise when it is
“uttered ? Discuss.
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(b) Distinguish between natural’ sign and
conventional sign.

(¢) Place guotation marks where they belong in
the following sentences :

(i) Chienis the French word referring to dog.

(ii) The word cat names cats; and the name
for the word cat is cat. 8+5+2

(@) Critically explain the conditions necessary
for a knowledge-claim.

(») Where can the word 'know' in the strong
sense beused ? 12+3

(@) Discuss the relation ofa word to its meaning.

(b) Explain and illustrate the different senses of
'‘meaning. ' 7+8

(@) Define analytic proposition.

(b) A proposition may be analytic at one time but
not at another — Do you agree ? Discuss.
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(3)

(¢) Mention one necessarily false proposition
and one contingently false proposition, and
~say why they are so ? 6+6+3

Explain critically the fundamental laws of

thought as propounded by Aristotle. 15

Do you think that causal principle is only a

matter of constant conjunction ? Discuss. 15
GROUP — B

[ Semi-long Answer Types Questions ]

Answer any five questions : &8x>

What do you mean by the scope of definition ?
Discuss. _ 8

Explain the Referential theory of meanin g. 8

Explain with example different fs}pes of
possibilities and impossibilities. 8

Express your opinion about the following
sentences : - 8

(a) It's true, but I don't believe it.
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(b} Isay it's true, but I don't believe it.

(c) 1 say sincerely that it's true, but 1 don't
believe it.

{(d) 1say and believe it, but I don't believe it.

11. Explain Interactionism as a theory of body-mmd
relationship. 8

12. Comment on the following statement : . 8

'Some words designate but do not denote,
and some words simply denote but do not
designate.'

13. Discuss after John Locke the theory of
Representative realism. ‘ 8

14. How does Hospers formulate the problem of
universal ? 8

15. Distinguish between slrong 1deahsm and weak
ldeahsm 8

16. Bricﬁy explain coherence as a theory of truth. 8
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GROUP — C
[ Short Answer Typeé Questions ]

Answer any five of the following : 4x5
17. What is ambiguity ? 4
18. Explain logical possibility with example. 4
19, Whaf 'is Intuition ? | . 4

20. What is meant by the quorum feature of
language ? _ 4

21. Do you think that tautologies are analytic
propositions ? Answer with reasons. , 4

22. Tshall survive aftermy bodily-déath’ — anali]’zek

the meaning of this statement. 4

23. Which of the following words can be defined
verbally and which only ostensively? 1 +1+1+1

Death, Love, Fear, Anger
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24, Which of the following propositions would
you consider to be the law of nature. Give
reason. 282

(a) Alloceans contain water.

() Iron rusts when exposed to oxygen.

25. Which of the following propositions are analytic
and which are synthetic ? Statewhy ? 1+1+1+1.

{a) Allhuman beings are mortal.
| (b) All fish live in water.
(¢) Allswans are bird.

(d) A yardis three feet.

26. Mention in which sense the word 'must' is used
in the following sentences. 2+2

(a) Youmust be in by midnight.

(b) If p istrue, and p implies g, then g must
be true.
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